
Algebra 3 Assignment # 11 

Solve for x if π < ≤  2 x 0  please. 

(1)  0 2 ) x ( sin cos(x) 4 ) x 2 cos(  2 = + − − 

(2)  ) x ( cos ) x ( sin 5 ) x 2 cos(  2 2 − = 

(3) ( ) ( ) tan 2x  + cot 2x  = 2 

(4)  0 3 (x) sin 4 (x) cos 6 ) x 2 ( sin 2  2 2 2 = + − − 

(5) ( ) ( )  1 
2 sin x cos x  = 

(6) ( ) ( ) cos 2x  + 5  sin x  = 3 

(7) ( ) ( ) cos 2x  + cos x  + 1 = 0 

(8) ( ) ( ) ( )  0 x 2 3cos x cos 4 x cos 8  2 4 = − − 

(9) ( ) ( ) ( )  2 x cos x sin 4 x 2 sin = + − 

(10) ( ) ( )  0 2x cot x 5 cot = −



Algebra 3 Assignment # 11 
Answers 

(1)  3 , 
2 2 
π π   

  
  

(2)  5 7 11 ,   ,   , 
6 6 6 6 
π π π π   

  
  

(3)  5 9 13 ,   ,   , 
8 8 8 8 
π π π π   

  
  

(4)  2 4 5 3 5 7 ,   ,   ,   ,   ,   ,   , 
3 3 3 3 4 4 4 4 
π π π π π π π π   

  
  

(5)  5 , 
4 4 
π π   

  
  

(6)  5 , 
6 6 
π π   

  
  

(7)  3 2 4 ,   ,   , 
2 2 3 3 
π π π π   

  
  

(8)  2 4 5 3 5 7 ,   ,   ,   ,   ,   ,   , 
3 3 3 3 4 4 4 4 
π π π π π π π π   

  
  

(9)  7 11 , 
6 6 
π π   

  
  

(10)  2 4 5 5 7 11 ,   ,   ,   ,   ,   ,   , 
3 3 3 3 6 6 6 6 
π π π π π π π π   

  
 


